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Economics
Paper II

AL I
gyaatrent 11

Time Allowed : 120 Minutes] [Maximum Marks : 200
Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)

U Sed. €@ YA e

The expansionary effect of balanced

budget is called the ......................
(A) Balanced budget multiplier
(B) Investment multiplier

(C) Money multiplier

(D) Expenditure multiplier

Balanced budget multiplier is :
(A) The ratio of change in GDP to

change in government spending
matched by equal change in

taxes

(B) The ratio of change in
investment to change in

saving

(C) The ratio of exports to

imports
(D) The ratio of tax rate to tax

base

Hqfad AR fowaia g
I WU

(A) Fgferd TSI TUIeh
(B) e TR

(C) T T

(D) @€ Uk

qqfad ST U

(A) Thdl 3TdId IcTCdrdid sSieeATn
IR Tl S Hiaed] faders
JeeTIEal STl

(B) @AUHIdId agar=dl Fdidie
AT FFATAT T[N AU TR
S

(C) faafdr=ar ATITAIN  AgA ST
‘\l“ll(‘(‘l{l'{qf&l d‘IHCI\I

(D) hT=A1 UERT A hl=A1 ST
ORIl 3T
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An increase in government

spending has .................... effect on the
aggregate demand.

(A) an inflator

(B) a deflator

(C) an accelerator

(D) a multiplier

The size of increase in government
expenditure which leads to rise in
GDP is determined by which
technique ?

(A) Inflator

(B) Deflator

(C) The accelerator

(D) The multiplier

Incidence of a tax on wage income
may be affected by .....................
(A) Individual protest

(B) Inflation

(C) Collective bargaining

(D) Deflation

3.
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(C) wa

(D) TR
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(B) HrEam@

(C) HHETeh Hemeit
(D) TATEHRH




The Finance Commission in India
is appointed by the President of
India as per the provision of Article
.................. of the Constitution of India
and ......ccoeeeeeeeennne is the Chairman of
the 15th Finance Commission.

(A) 270, N. K. Singh

(B) 280, Y. V. Reddy

(C) 280, N. K. Singh

(D) 281, Y. V. Reddy

According to the Classical
Development Theorists, the key to
Progress is .....ceeeeeeeeennn..

(A) Labour

(B) Technology

(C) Laissez faire

(D) Capital accumulation

SEP - 11221/I1—-D

Q:nTcﬁ'q' {l“'f'lbid:l'otu STy T

AR TSt faxiia STEmT= STeaer=

A AT A0 15541 foriar ST
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(@) The term creative destruction
was introduced by Samuelson.

(i1) The term creative destruction
refers to improved quality
innovations that make old
technologies obselete.

What can you say about the above

statements ?

(A) Statement (i) is correct and (i)
is incorrect

(B) Statement (i) is incorrect and (i7)
is correct

(C) Both statements (i) and (ii) are
incorrect

(D) Both statements (i) and (i) are
correct

Which of the following indices that

the World Bank has developed is

related to sustainable development ?

(A) Inclusive Index

(B) Green Index

(C) Poverty Index

(D) Sustainability Index

SEP - 11221/I1—-D

(@) gorras foamen & we wduem
HRITGEA AT aTe.

(i) GoHHesn foame =os A R

FTAATE HIUR G T[0T
RElRE G
T fagHEEd goe 7 &9 TR ?
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SR 38
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(B) ®fa fdwme
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10.

11.

12.

Calculating is more

straight forward than calculating the
HDI.

(A) Human Poverty Index
(B) Human Happiness Index

(C) Multi-Dimensional Poverty

Index
(D) Gender-Development Index

Which country among the BRICS
has the highest life expectancy as
per the 2016 data ?

(A) India
(B) Russia
(C) China
(D) Brazil
Which of the following is not a

criticism on Marxian theory of

development ?

(A) Static analysis

(B) Surplus value is unrealistic

(&)

Marx could not understand

flexibility in capitalism
(D) Marx believed in government

intervention

10.

11.

12.
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I HIYT L0 3R G

(A) Ara Tifge fadene

(B) Ara g fadenie

(C) wg-sma g fdwnes
(D) ferm-famma 4
2016 =1 AheIRIFER BRICS Terdial
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(A) W

(B) ¥
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(D) e
Wetietisht o faem werd == fasm

1T

fagidedial SR A@r ?
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13. Applicability of Schumpeter’s theory

14.

to underdeveloped countries is

limited because :
(A) It neglects savings
(B) It neglects development

(C) Large population of these

countries

(D) High illiteracy in these

countries

In Harrod’s model of growth, the

actual growth rate is ....................

(A) Actual income and consumption

level

(B) Actual amount of saving and

investment in the country

(C) Actual amount of public

borrowing

(D) Actual difference between

income and consumption
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13. STeqfashfaa Semmed ydter=n fagiam

SIS HIifed 3R, R0

(A) Tagian smedien gelfaee e

(B) fagiar foshma Heheu geifaret 31

(C) a1 2N YOS AREEA 3T
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15.

16.

Fei-Ranis theory of development is

considered as an improvement over

(A) Lewis theory

(B) Solow’s model

(C) Joan Robinson’s model

(D) Harrod-Domar model

Meade’s growth model explains
relationship between :

(A) Income growth and inflation
(B) Income growth and capital
accumulation

(C) Income growth and rate of
interest

(D)

Income growth and population

growth

16.
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fgiare guiia @ed 3. 319 Fasd
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(A) afag=n fagia

(B) 9= UEd
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17. According to Leibenstein every

18.

economy is under the influences of

two forces, namely :

(A) Savings and Investment

(B) Shocks and stimulants

(C) Agricultural development and
industrial development

(D) Income and investment growth

Nelson’s theory of development

assumes :

(A) Keynes’ theory of employment

(B) Marxian theory

(C) Malthusian theory of

population

(D) Say’s law of markets

17.

18.
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AIORETS el Hd, Godeh STefegaren

(A) =t ST I[qaveh
(B) & ST U

(C) Tt famm enfor fenfirer foerra

(D) 3= 3T [k IS

e I faemfagias

TEideh  3TTe.

(A) &g =1 SR Tag

(B) wed o= fagma

(C) AU I=T ke Hgid
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19. How does

the environment

contribute to the circular flow of

income ?

(@)

(b)

(c)

(d)

(A)

(B)

(C)

(D)

Providing consumer services of
various types to domestic
households

Providing household services to
domestic firms

Providing natural resource
inputs to domestic firms
Acting as a repository for the

waste products of domestic firms

b), (c) and (d)

(@), (c) and (d)
(@), (c) and (b)

(@), (b) and (d)

19.
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ST b1 JATRTd IR0 HIMYHTR

IEHE <d ?

(@)

®)

(c)

(d)

(A)

(B)

(&)

(D)

3TAIA FEAME! STl STHI

Fein R FO
siata SETERS ST G
ST oot

2ehTS: SR ISR TgU HIH 0N

(b), (c) = (d)

(@), (c) 3T (d)
(@), (c) A ()

(@), (b) U (d)

11
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20.

21.

The optimum level of economic
activity and associated pollution
from society’s point of view occurs
where :

(A) Marginal Social Benefit <

Marginal Social Cost

(B)
©)

Marginal Social Benefit = 0
Marginal Social Benefit =
Marginal Social Cost

(D) Marginal Social Benefit >

Marginal Social Cost

() Malthus supported population
control to ensure balance
between population and
availability of food grains.

(i1) He advocated “unethical”

means to control population.
What can you say about the above
statements ?
(A) Stetement (i) is correct but (i7)
is incorrect
(B) Statement (i) is incorrect but (i7)

is correct

(&)
(D)

Both () and (ii) are correct

Both () and (i1) are incorrect

20.

21.

SEP - 11221/I1—-D

TS iAo Tifdfash o

AR FAfa GguTel qAE  aTded!

eI A

(A) T FHIS T < HH ST
T

(B) HH@ @IS @Y = 0

(C) I TSI A9 = HH SR
T

(D) S TS A1 > W= SR
T

(’1\|°h{‘i{9¢|I q TS STl

@

AT A Teerd
AT TR Ee RSO R
.

(i) e s & STHfaR
HIYAET qUERR hadl.

T fagHEEa s & |9rma - ?

(A) faum () s/ 3¢ g faum i)
T 38

(B) faum () 9% R Wg faum i)
EECIIC

(C) Tl T () 9 (ii) ek 3R

(D) T fa9m () 9 (i) b 3Teq

12



22. As per the census 2011, arrange the

23.

birth-rates of the following states in
India from the highest to lowest
order :

(A) Bihar,

U.P., Rajasthan,

Karnataka

(B) U.P., Rajasthan, Bihar,
Karnataka

(C) U.P., Bihar, Karnataka,
Rajasthan

(D) U.P., Bihar, Rajasthan,
Karnataka

The name given to a tax which

makes the firm pay for all the

pollution damage it creates with

each extra unit of output is :

(A) Pigouvian

(B) Tradable permits

(C) Coase Theorem

(D) First Law of Thermodynamics

SEP - 11221/I1—-D

22. 99 201131 SIFTUHTER YRAr= Yl

23.

T SGUIHR Falfeeh O |ard et

AMGHOT HH ATl

(A) foRR, TR, TSEAM, FHAEH

(B) SUURYI, TSEYH, foeR, sdies

(C) WUy, foRR, FHlesh, g™

(D) AUy, foRR, UM, SAies

ISl AR A Scutfed ShIdml

JENTEE GHEOM=N ST BT Shid caTa

ATIARIT h{ld Al
(A) fofora
(B) SAUATT qa™

(C) =9 9o
(D) ISTTfaeR=n god 2|
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24. What refers to the trapping of heat

25.

26.

between the earth’s surface and
gases in the atmosphere, especially
carbon dioxide ?

(A) Greenhouse effect

(B) Multiplier effect

(C) Atmosphere effect

(D) Demonstration effect

In which year was the Department
of Family Planning at the centre set
up ?

(A) 1965

(B) 1966

(C) 1977

(D) 1975

Name the Union territory having
the highest density of population
from the given below :

(A) Chandigarh

(B) Delhi

(C) Puduchcheri
(D) Daman and Diu

SEP - 11221/I1—-D

24, geaTal YSSYN o STATERUINdd &7,

25.

26.

oo : e SEeieES AT<aTd ST
FSHA! S0 A HE WU ?

(A) BRaTE RO

(B) Ttk witumH

(C) ardmerer aiomd

(A) 1965
(B) 1966
(C) 1977

(D) 1975

qEeTienl ciiehaed=l adifers =l

ST g Joeme 96 forl.
(A) =ETe
(B) foeft
(C) gg=d

(D) <qU 9 <4
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27.

28.

Which item from the list below is a

positive externality ?

(A) Public immunization

(B) Traffic Jam

(C) A neighbour’s barking dog

(D) Pollution

What is market failure ?
(A) Something prevents the market

to allocate resources efficiently

Both consumers’ and

(B)

producers’ surplus are

maximised
(C) Free market of individuals
acting in their ownself interest
leads to a socially desirable
results

(D) There exists no consumers’

surplus

27.

28.

SEP - 11221/I1—-D

~_¢
[

a A A ~
Al QA <h[UIdT ®deh  YAdlgd

gefferdl ?

(A) HESTR & gfdey U™
(B) dreqsh whiet

(C) TSTFATel YHUIRT HAl

(D) 9o

INR YIRS 2

(A) SFSTRIAT THIEAE hrEeHa d1eq

HLOATIEA e ST
(B) UMK o ScqGeh 1 STl e
HEwH ST

(C) T STSTRIdIE Sekit Ffed IRUIHR

araIiSRg seaT eTufera ofiomH

HEdrd

(D) S aTfEer StfEdeard 3d @l
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29.

30.

According to Central Statistical
Organisation the growth rate
achieved by agriculture, industrial
and service sector during financial

year 2017-18 stood at

percentage respectively.

(A) 2.1, 44, 8.3
(B) 4.9, 5.6, 7.7
(C) 0.7, 8.8, 9.7
D) - 0.2, 7.5, 9.7
Match the following :
Year/Census Child Sex
Ratio in India
(@) 1981 @) 914
(b) 1991 @) 927
() 2001 (iii) 945
d) 2011 (fv) 962
Codes :
(@ ®) @ (@
A) @) @) @ @)
B) Gv) @) @ @
C) Gv) @) G @)
O @ @ GG (o)

29.

30.
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o

g Hiegeh! ToeA= Hd, 2017-18

SeTd ST, ISAMT ST Ha

o o

EIRELIE

g e holell JEeL ST ,

..................... B
Brdl.
(A) 2.1, 4.4, 8.3
(B) 4.9, 5.6, 7.7
(C) 0.7, 8.8, 9.7
(D) - 0.2, 7.5, 9.7
e S[esdl ¢
ELVSEULE AT
e Tt iR
(@ 1981 @) 914
() 1991 ) 927
() 2001 (1) 945
(d) 2011 (i) 962
W :
(@ ®) @ )
A @) Gv) @ @G@)
B) Gv) @) G @
C) Gv) @) @) @
D @ GG G (o)
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31. According to the 10th Agricultural 31. <gEA %)[)ﬁ o (2018) TER, AT
Census (2018), the average size of —
operational holdings in India is .........

a.sﬁa. .................. %aa m 311%
hectare in 2015-16.
(A) 1.15
(A) 1.15
(B) 1.08
(B) 1.08
(C) 1.23
(C) 1.23
(D) 1.33 (D) 1.33

32. Swachha Bharat cess has been | 32. YA W= 9Rd 3IqspL =~

enforced from ................ at therate |  ____ ... N ~

KIS I T ] hedl TR
........................ in India.

(A) TR 2015, 0.5 T
(A) November 2015, 0.5 percentage

B) fedsr 2015, 0.05 =Fh
(B) December 2015, 0.05 percentage @)
(C) January 2016, 0.1 percentage (C) SRt 2016, 0.1 5
(D) August 2015, 0.01 percentage (D) 3= 2015, 0.01 Z=h

17 [P.T.O.



33.

34.

Which of the following is portrayed

in the population pyramid of a

country ?

(A) Rural-urban distribution

population

(B) Young-old distribution of
population

(C) Age and sex distribution

population

(D) Gender  distribution  of
population

Pradhan Mantri Sahaj Bijli Har

Ghar Yojana (Saubhagya) Scheme

was launched by the

AS OI ceveeereeiieeieee e see e .

(A) State Minister, 5th September,
2017

(B) Finance Minister, 25th

September, 2017
(C) Prime Minister, 25th September
2017
05th

(D) President of India,

September, 2017

33.

34.
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N

TSI AIREEA] e, ST @eterden]

% fafa 39 2

(A) IO F AR SRR AlehaEd
IEEIEE]

(B) a1 9 I§ TANCI-BE dlhaedd
IEEIEE]

(C) 59 9 T argee faumH

O RUERERRIER I ERELISE!

T TEs forstell 88 3R Ao ()

...................................

& H0A ATl

(A) TS T30, 5 9=, 2017

(B) fam ==, 25 ¥R, 2017

(C) Taue™, 25 W@, 2017

(D) Teeudt, 5 e, 2017
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35. Arrange the fo]]owing Indian 35. memqq%qﬁqw%i*ﬂ C"‘ii""‘“

Financial Sector regulators in

chronological order of formation :

() Securities and Exchange Board
of India (SEBI)

(z1) Insurance Regulatory and
Development Authority of India
(IRDAI)

(zii) Pension Fund Regulatory and
Development Authority

(PFRDA)

(iv) Forward Markets Commission

o~

M= FIRATTER WS &Y :

() YrRdE U 9 fafma ge@ (SEBI)

o~

Gi) «dTa T

A 9 Ta&Td

Tt (IRDAI)

(i) wiosafqatg feh fames o fawm

ifEeRtor (PFRDA)

(jv) IEET SN’ Gfadl (FMC)

(FMC)
Codes : Hehdieh :

A @), G, Gi), @) A @), G, Gi), (@)
B) (), @), G, Gii) B) (), @), Gi), i)
© @, G), Gv), G ©) @), Gi), Gv), @)
D) Gv), Gi), Gi), @) D) @), Gii), @), @)

19

[P.T.O.



36.

37.

The minimum support price for

agricultural products is
recommended by which of the

following ?

(A) Cabinet Committee on

Economic Affairs

(B) Commission for Agricultural

Costs and Prices

(C) Agricultural Produce Market

Committee

(D) Directorate of Marketing and

Inspection

Which one of the following is not a

‘Maharatna’ status company ?
(A) SAIL
(B) BSNL
(C) ONGC

(D) BHEL

36.

37.

SEP - 11221/I1—-D

Fol Scarfed A=Al fRAM STHRyE

fradi=l PR SeloTieh! hIvTHTGR

el S ?

o0

(A) 3R Heerfawas Hides Tfbd

(B) &t =& 9 fohad M

(C) Fol IO &SR it

(D) faUUE 9 qUEeh e

WTeATeTdeh! ShIvel Tehl o9  Herel'
TS AR ?
(A) SAIL
(B) BSNL

(C) ONGC

(D) BHEL
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38.

39.

National Rural Health Mission
(NRHM) was launched on

in India.

(A) 2nd October, 2005

(B) 12th April, 2005

(C) 15th August, 2005

(D) 1st April, 2005

While recommending horizontal

distribution, which of the following

criteria got the least weightage by

the 14th Finance Commission ?

(A) Tax collection

(B) Area

(C) Population

(D) Income distance

39.

SEP - 11221/I1—-D

o SR A (NRHM) I8 9.

(A) 2 SR, 2005

(B) 12 WiHUd, 2005

(C) 15 3=, 2005

(D) 1 T, 2005

TR faaeom=l RTeRE T, 149

o ~ A o Y ~
[dcd  HATHNTGIY  LCllcAlcdYehl hTUICH]

feroren foram 9 fHesren e ?

(A) HT GhaHd

(B) &=

(C) dArengE

(D) 3T 3T
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40. Match the following : 40, = e T -
State S
(@) Andhra Pradesh @ sy
(b) Karnataka ®) FAeE
(¢) Gujarat (© TR
(d) Maharashtra (d) TN
Urban Population (2011) AR FAREET (2011)
(i) 45.20 percentage (i) 45.20 TFh
(ii) 42.60 percentage @) 42.60 TFh
(iii) 38.60 percentage (ii) 38.60 TFh
(iv) 33.50 percentage (iv) 33.50 ZFh
Codes : Hehdieh :

(@ B © @ (@ b)) (@ (@
A () @G & G A) G @ @ Gi)
B) @) @) GG © B) @) @) @ @
C) @) @ @) G@) C) vy @O Gi) @)
D) G G Gi) o) D) @ G G G
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41. Choose the correct option regarding

42.

the following statements (i) and (i).

(1) An increase in the income
beyond certain limit leads to
increase in consumption of

necessary goods.

(z1) As per the law of demand, price
and demand for commodity

change in the same direction.

(A) Both the statements are correct

(B) Statement (i) is correct and

statement (iz) is incorrect

(C) Both the statements are

incorrect

(D) Statement (i) is incorrect and

statement (i7) is correct

Consider that all inputs in a
production process are constant
except only one input. If the total
product in this case is at its
the

marginal product is :

maximum, corresponding

(A) Maximum
(B) Zero

(C) Rising
(D) Falling

41.

42.

SEP - 11221/I1—-D

et faemM () 37T (37) =0 devidid
I gaig feer

() ek fafyme waic=an Uciiehe Sca=rd
I1E AT YIS T ARTUid
I

(i) wrTie FEEHER asE fahad
afor Aol wehre fG¥ Seerd.

(A) T faum sleR ted

(B) faem (i) ssR 31 <fon faem (o)
RS

(C) T fasum 9= mRd

(D) faum (i) Ik 3 faam (i) IR
e

3T TUST !, Teh! SCAGA Fihadiel haed

T HIET deht ¥dl 3TeM fEer afred. =

Teordid SR THUT 3R HewH 3 e, TR

(A) we<H
(B) I
(C) =med
D) ==
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43.

44.

45.

People who choose most risky

investments are :
(A) Risk averse
(B) Risk neutral
(C) Risk seekers
(D) Risk takers

In a game, two or more decision
takers know that their decisions

are :
(A) Dependant

(B) Independant

(C) Strategically interdependent
(D) Mutually inclusive

Other things remaining constant, if
there is a successful advertisement
campaign for a commodity, the

demand curve for the same shall

(A) Shift to the left
(B) Shift to the right
(C) Become positively stopping

(D) Become parallel to Y’ axis

43.

44.

45.

SEP - 11221/I1—-D

S e waifaes SreH=ar [aaueh]
(A) SEd 2T

(B) SI@M™ TeEd

(C) NIRIG
(D) SE™ B

Yo fagiamed €F fhen s ot
HUT] SR HIGId 3THA 6, = Forg

T qRIEedl feer STEdMT, Temen sqdrs!
AT el HEH JeRl e,

(A) TETHS Gihdl
(B) 3Sdiehe Glahdl
(C) ¥4 Sarr=1 Bral

(D) ‘T’ TIAT FHIGR Bl

24



SEP - 11221/I1—-D

46. Economic rent is the payment to a | 46. M TE WUN ST TIHH ol
factor whose supply is : ARYYSE M= qrar
(A) Completely inelastic (A) Uil STerataeh
(B) Completely elastic (B) 'Fl'{“fqﬁl GEIEED
(C) Unitary elastic (C) '{OhOh'\l SEICET
(D) Less elastic (D) HHt AR
47. The general equilibrium model was | 47  gagremo Teer e o iy
developed by : forfaa so1
(A) Kaldor-Hicks (A) Soek-fea
(B) Alfred Marshall (B) sche ARIA
(C) Adam Smith (C) 3fen Ty
(D) Leon Walras (D) fteq drer
48. Which one of the following is not a | 49 wreieie S =F TR T
static property of a general oy MgV SIS S
equilibrium state ?
(A) ST TR e e
(A) efficient allocation of resources
among firms fet
(B) equilibrium of consumption (B) ST W
(C) efficient combination of products (C) 3UEATET e FAW
(D) efficient distribution of profits (D) TR Frdem oo
25 [P.T.O.



49.

50.

51.

Any point along the Edgeworth

contract curve is :

(A) Pareto efficient point
(B) Pareto inefficient point
(C) Pareto suboptimal point
(D) Pareto’s welfare point

Third fundamental theorem of
welfare economics assumes that

there are no :

(A) Economies of scale
(B) Externalities

(C) Diseconomies of scale
(D) Economies of scope

The market allocation under adverse

selection is :

(A) Pareto inefficient
(B) Pareto efficient
(C) Pareto optimal

(D) Pareto efficient and optimal

49.

51.

SEP - 11221/I1—-D

TSad=a FAR FehEa HIvaR fog

(B) <&~
(C) ufterzrati® wfderer

(D) AT &Y

gfehel FaSieimia aer fomeo

3.

(A) T FwriaH

(B) W2 wrigH

(C) R T

(D) & ey 9 qAw
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52.

In Pareto optimal or efficiency

equilibrium :

(A) Situation, it is impossible to
make anyone better off without

making someone worse-off

(B)

Situation in which it is possible

to make someone better off

(&)

Situation where supply equals

demand

(D) Situation where marginal rate
of substitution and marginal

rate of technical substitution

52.

SEP - 11221/I1—-D

TE TqIa fohal wEEH G :

(A) o73ft frerdt Siegl Want oHa=A
FHEATT, THATHT AT o A

TS A GUR FHO W B

(B) o73ft frerdt Sisgl Want oHai=a

FHIUNG oE HI0 I B

(C) 3Teft feorcht Siegl qeael ArTviieRier

THE 3Tl

(D) 2730 Teerdt Siegr HWiHifder qA==SH

T 37107 HiHIdeh Teeh TAEASH <X

are equal A AHdl
53. Which of the following is an example | 53. gé]m?}oh'] I T TS q«@
of capital goods ? IR0 AR’ ?
(A) Food and clothes (A) 39 9 FI2
(B) Tools and machinery (B) TR d 4>lHltlj,lql
(C) Consumer durable goods (C) TRETE frFTs g
(D) Fertilizer D) =
27 [P.T.O.



54. The difference between production

55.

56.

at market price and producers’ price

is due to :

(A) Depreciation

(B) Net factor income from abroad
(C) Indirect taxes and subsidies
(D) Net transfers between countries

Macro-economics is a study of

economics that deals with :
(A) Firms and households only

(B) Firms, households, government

and external sector
(C) Demand for a specific product
(D) Balance of payments

The length of a business cycle is

measured from :
(A) Peak to peak
(B) Trough to peak
(C) Peak to trough

(D) Trough to trough

SEP - 11221/I1—-D

54, SN fRAAIHAT STHUR ScAed d

55.

56.

IUehT=A fRAGIIHTI STHUR  3care

ATl e IV HEhHes ad ?

(A) =ET

(B) eIt e o 3

(C) AIIL T I 3TR_M

(D) <Mavia oo g&aTa<ol
THSE] TV B STST=l SImen

RIS hEMal R 38 ?
(A) ® TR 9 Hd
(B) SUNTEEAT, Hhed, IEA 9 el &

(C) fafere axg=t wmmft
(D) FFeRard

HATIREHTA] dAled HISHY 39 ol

S

(A) Feed d Faed
(B) 9@ d hosd
(C) He39 d dB

(D) 98 d dB
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57.

58.

Which of the following is not true

about the steady state growth path ?

(A) The capital stock grows faster
than GDP

(B) The ratio of capital stock to

income is constant

(C) Investment is a constant share

of GDP

(D) Consumption is a constant

share of GDP

The Demand-pull inflation exists

when :

(A) Costs are increasing faster than

output

(B) The level of aggregate demand

grows faster than the supply

(C) The prices of imports are rising

than the domestic goods

(D) There is an increase in the oil

prices

57.

58.

SEP - 11221/I1—-D

TeeR aTereen g5t AFTETe qeretieh! v
faum = - ?

(A) STEadr=T WS THI I9Tada

SIS Seg T el

(B) oTeadl HISA™ 3R 3T
ToeR. TReR s

(C) eI TEHUT SR Sca=rea FEer
qFT 379d

(D) YN TR WM Sca=r=n FEer
O Al

qETUiS= Fele Hireel  Afdcand  adl

I8

(A) YEHETULT TE SO T el

(B) TR AU Uded Qlersarae

STde T dTed
(C) 2Yniaria ferudtaen o feradt S
Jqledld

(D) dor= fhAda 9@ B
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59.

60.

The change in investment due to a

change in income is known as :

(A) Consumption

(B) Multiplier

(C) IS curve

(D) Accelerator

A cut in income tax rate to

encourage the household

consumption is an example of :

(A) Expansionary demand side
policy

(B) Contractionary demand side
policy

(C) Expansionary supply side
policy

(D) Contractionary supply side

policy

SEP - 11221/I1—-D

59. SN SEATeS TaaUehid aIgel aidl

IqAl v RO ?

(A) 3UH

(B) TR

(C) IS 9=

(D) wa

60. SR YA ST STAHIST WA

T HO T HYA IS0 IR ?

(A) Tomaria arTeiis=r o

(B) HeRfad AU 9RO

(C) foeariid Qeaes=r gru

(D) W ad qREeN HRu
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61.

62.

63.

The short-run Phillips curve in case
of an increase in inflationary
expectations would result in :

(A) Shift to left

(B) Shift to right

(C) Vertical line

(D) Being unchanged

According to classical models, the

level of employment is primarily
determined by .............
(A) Interest rates

(B) Level of prices

(C) Level of aggregate supply
(D) Level of demand for goods and

services

For a random variable following the

Poisson distribution,
e Ak
k—ﬂv equals :

1
(A) Only mean of the distribution

(B) Only of the

PX=%Fk =

variance
distribution

(C) Both mean and the variance

(D) 1k

61.

62.

SEP - 11221/I1—-D

aTecd] IATdTe =l 3Tq&IT  TFATAT

USRI TRl ShTslTeld hTd USd ?

(A) SEhe 9ihdl

(B) SSElohe 9lahdl
(C) @& YW 3THal
(D) 9€A B AT

o o hd ¥ o [aV
SAlAAl AR, ISHTIRTET Hidool 759[

THEAT JeIaTdeh! RV SeehTHe 3L ?

(A) =T X

(B) forudi=n drdadl
(C) WRU QRESIT= UIedes!
(D) 9%] & Har=A "RTUiE Ut

63. disar wWifeas! faao = 9o

_kkk
- , A T SRifear ?

1

e

PX ==~k =

(A) e Taaromel OEd

(B) e fadquoma fa=ro

(C) Ul enfur fo=mor

D) 1k
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64. For two random variables X & Y,

65.

covariance measures :

(A) Direction of the relationship
between them

(B) Strength

of relationship

between them
(C) Both (A) and (B)

(D) Variance of X and variance of Y

In a linear regression model

Y. =

; = a + BX, + p;, unbiasedness

requires :

(A) Y be correctly measured

(B) Covariance between X and 2
be zero

(C) X and Y be not correlated

(D) Error term to be normally

distributed

SEP - 11221/I1—-D

64. TS X N1 Y § 9 IgFmw =

65.

AT, e Hedeld i S¥ad ?

(A) Tegeurl feum

(B) UeHauT=l Hifedsh &TFdl

(C) (A) ffor (B) qr&l

[a)

[l

(D) X snfor Y =1 fa=reqm=n o

Y.

l

= o + BX; + p; & [E FAFTHA

FiTHE 31— SIS BIefietieh!

AETTF IEd ?

(A) Y =it Hisolt eqeieyd el et
arfest

(B) X &for ¥ #Hld Hewdd I

I B

(C) XaY =1 HeHaY Y[ STHEa gl

D) p = famo TEEERY 3T
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66.

67.

68.

For a linear regression model

Y. =

l

a + BX; +p;, Durbin-Watson

statistic is used to test for :

(A)

Serial autocorrelation among

residuals
(B)
(®)
(D)

Mistakes in calculations

Correct functional form
Heteroscedasticity in residuals

Suppose X is a normally distributed
random variable with an unknown
mean M and an unknown variance
c2. The following test can be used
to

unknown population mean :

(A) The F-test

test a hypothesis about

(B) t-test
(C) Chi-square test
(D) z-test

Which of the following is Hyperbolic

function ?

(A) Y = logy x

B) Y =20b*

© Y=
X

M Y = a + bx + cx?

66.

67.

68.

SEP - 11221/I1—-D

YL=G+BXL+pLWi—EﬂqW

~

gfqH Seia-aled A= el

HIMEST aTaard ?
(A) sraferserdia T -ggqd ¢
AU

(B) STheHIEIdd ekl TUHUAEIC]

(C) HheH IrT 1 W&

(D) STEfITRIdd STAsh{ael Fehiordr
AT X ¥ 7= foaion steert agfess
T SFH S &= IO Jed o i
foreru o2 AR T9d, T aAhaEs =
ST TR Fenfererel e qoeoarae
ETeiTeTdeh! IR =Te0l STORard ?
(A) F-=m=oft

(B) ¢-=m=Ioft

(C) Chi-Square =Tt

(D) z-=T=v

Welel THeAldeh! hivd el ST

%a (Hyperbolic) 38 ?

(A) Y = log, x
B) Y =20
© Y=2

X

(D)Y=a+bx+cx2
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69.

70.

71.

In the linear function D = Z - P,

dependent variable vanishes when

value of independent variable is :
(A) 6
B) 7
) 3
D) 2

Find the point of maxima on the

curve :
Y =3 — 622 + 9x — 2

(A) 3

(B) 5

€)1

D) 0

If demand function is 150 — 50P and
supply function is 25 + 25P, then
what would be the equilibrium
price ?

(A) 3.5

B) 1.7

(C) 4.7

D) 2.5

69.

70.

71.

SEP - 11221/I1—-D

Teh1 T HOHAER D = Z — P, /9™

eIt Il Wleltoiueh! sl STl
~ S N NN

IV Joaer G e g

(A) 6

B) 7

© 3

D) 2

SERERIcl He@H fog i :
Y =23 - 622 + 9x — 2

(A) 3

(B) 5

1

D) 0

SR HTFTO e 150 — 50P 18 3T

Sl T 25 + 25P 318, T HHAI

fohid @Ielietdeh! hIoT JRid 2
(A) 3.5
(B) 1.7
(C) 4.7

D) 2.5
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72.

73.

If A =
o o
@ o o
o
®) ¢ 1
S
© o o
o o
® [{ o

As per the principle of comparative
advantage a country shall benefit in
foreign trade if ....................

(A) It has better technology

SEP - 11221/I1—-D

3 4
2. SRA=| o _gl| AZTEM
0 0
@ o o
o
® o 1
SR
©)
0 0
™ [{ o

73.

JeTIcHeR TTHT=AT TRl TER Qe TLeh

(A) TYMHRS 3Tk =Ml a9

B) It has bett t and N
(B) as better management an B) > s TS AT g
techniques
(C) It specializes in goods which T ST
could be prOduced at (C) WWWWW
comparatively lower costs
. IcqreAT  forereftentor sl
(D) It dumps goods in other
countries (D) ST QM TH EYSH hed W
35 [P.T.O.



74. Which of the following items in a

75.

76.

country’s balance of payments is
classified as invisible ?

(A) Goods exported

(B) Foreign travel

(C) Govt. expenditure abroad

(D) Foreign investment

When the flexible exchange rate
prevails, the exchange rate of a
currency is determined by :

(A)
(B)
(C)

Central bank of a country
Price of gold

The purchasing power of
currencies

(D) The demand and supply forces

in the foreign exchange market

Which of the following statements

about devaluation is correct ?

(A) It leads to higher prices in the
country

(B) It leads to higher imports in the

country

(C) It has only temporary effects

provided other countries do not

retaliate

(D) It leads to unfavourable terms

of trade

SEP - 11221/I1—-D

74. TIMAT FTERAIAT WA TAIh! IOl

75.

76.

A QYT WUA Ahd hell Sl ?
(A) THaia ot a5

(B) fowr yam®

(C) Tehr=l Wl e

(D) WRehd T[qavE

Siegl sgadr fafta g eIfdea e,

el Sl

(A) ST HEFed] o

(B) ==t fohwd

(C) T = Bl Wit

(D) Wi T SIS JRT0 o YLeal

TR

ST Teerdeh! hiod faem
ERLECE | F

(A) aTes <¥A TeRed ameda

(B) A3 SIMC ST aTeard

N

cn il

(C) ST 3R ST Gfdafsharcdeh ol
TR T AT AR TR FeadTd

(D) ATes SATRTRETRIR SATIREA (807
e
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77.

78.

What is common about the following

countries ?
Cyprus, Virgin Islands, Coxman

Islands, Bahomas and Mauritius.

(A) They are Dbest tourist

destinations

(B) They are known to be Tax

Havens

(C) They are former British colonies

(D) They are highest sugar

producing countries
Duty Drawback Scheme in the
context of foreign trade policy of
India was aimed at :
(A)

Raising the tax revenue

(B) Simplifying the tax

administration
(C) Reaching out to more countries
for exports
(D)

Enhancing the competitiveness

of export goods

77.

78.

SEP - 11221/I1—-D

M= T <¥Maed HHM o6 HIv 2

AW, ST SIS H, Shiar TFeey,
SR 30 A,

(A) @ 3T T TR 3TRd

(B) O X FUHd U9 A

[aSaY M

[SICIRT SHlend

(C) T ga 3 AR

(D) o Halferer HER e <91 3T

ITATSAT UL I AT SNOEe oid

X GARH A 3fEs
g .
(A) T HRYAT o1E vl

(B) T YRMEA gh{ 0

(C) Trafdarst eifuer Svmoefd e

(D) fraia a&g= woumshicar arefao
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79. The principal function of foreign

80.

exchange market is .................

(A) The transfer of purchasing
power from one nation and
currency to another

(B) The transfer of selling power

from one nation and currency

to another

(C) Transfer of foreign currency

loans from one country to

another

(D) Transfer of trade payments

from one country to another

India’s first Export Processing Zone
(EPZ) was set up at
(A) Noida, 1975
(B) Kandla, 1965
(C) Kandla, 1975

(D) Santacruz, 1975

79.

80.

SEP - 11221/I1—-D

Whd o deRe J& &

(A) T I T T BRGNERIT GHA

N A AN .
Q“QTEI A=Al LiRQIRIA= ol

HLO

(B) Weh <¥1 d FHTAT fosh ¥TeRi= Go
Y & AT fash IR SRRl
w0

(C) TehIT T TRl QEMehed ga=a

N N L4 N
QRllens  o<qlalll oniY]

(D) SR IThT THT MRS GEA

QYRS BEAALUT H]

(A) -zer, 1975
(B) e, 1965
(C) =iedl, 1975

(D) WdsRE, 1975
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81. The analysis of Heckscher and Ohlin

theory is based on

(A)

(B)

(C)

(D)

Absolute advantage on the
difference in factor endowments
among different nations

Comparative advantage on the
difference in factor endowments
among different nations

Absolute advantage on the
difference in labour endowments
among different nations

Comparative advantage on the
difference in labour

endowments among different

nations

SEP - 11221/I1—-D

81. sgi-3Mwad fagriare fad=s

(A)

(B)

(&)

(D)

fafay = w2 HAawhddd

ey Y qwTedr

fafay Isgr=a wes® o

qoATcHS oY qRE

Tafay Teer=a o1 geerehddial draet

Y qwIE

fafay wser=n 99 gaaswddra

qoHIcHE AH qHRIE!
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82.

83.

(1) This international institution
was set up in 1956.

(2) It is part of the World Bank
group of institutions.

(3) It gives loans and guarantees
to member countries.

The institution refers to above is :

(A) International Monetary Fund
(IMF)

Bank

(B) International for

Reconstruction and
Development (IBRD)

(C) International Finance
Corporation

(D) International Development
Association

The amended FERA was passed in

(A) 1973,
(B) 1973,
(C) 1975,
(D) 1973,

SEBI, 1998
FEMA, 1999
FEMA, 1999
FEMA, 1990

SEP - 11221/I1—-D

82. (1) AT STAWST T T 94

83.

1956 H&I el Bl

(2) B e AN Sk TR HEE
a3,

(3) T TE WS TSI S 9 §H ]G
.

B GET HIr ?

(A) STAWSEE AT

(B) STAWseE qAatemht o fasm o

[ (aY

(C) A< foxia AeMeEs
(D) AW fashra gere
Guid &0 (FERA) a1 ey

(A) 1973, SEBI, 1998
(B) 1973,

(C) 1975,

FEMA, 1999
FEMA, 1999
(D) 1973, FEMA, 1990
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84. The prevention of Money | 84. 3@y TE®™ Yfagay R
Laundering Act was passed in the qET O FIOEE e
VEAT wevevuveenrirrereenieeans (A) 2001
(A) 2001
(B) 2008 (B) 2008
(C) 2002 (C) 2002
(D) 2007 (D) 2007
85. Identify the correct statement from | g5  Erefierie sReX HaM =en :
the following : .
(A) Narrow money and broad (A) wgfe R ferega T E T
money are always the same T ST
(B) Narrow money is greater than (B) Hefaa T 71 faxqa Temian S
broad money 7GaT
(C) Narrow money is the same as ©) T Wﬁ S
broad money, depending on the
policy of government foreqa ¥ T e
(D) Broad money is always greater (D) forga T Wﬁ TremaT e
than narrow money TG A9l
86. In the context of India, which is the 86. WRATAl Geurd M, F TS ST
correct definition of M; ?
(A) My = Currency + demand IO ?
deposits
(B) M; = Currency + term (&) My = 561 + A S
deposits B) M, = re— HTVﬁ St
(C) My = Currency + demand
deposits + other deposits (©) M, = A + AT S+ 3R S
(D) M; = Currency + post office
savings deposits (D) My = W0 + TR s=q
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87.

88.

Which of the following is not the
source of aggregate monetary
resource in India ?

(A)
(B)

Net Bank Credit to Government

Bank credit to the commercial

sector

(C) Net foreign exchange assets of

the banking sector

(D) Net public debt of the
government

In order to determine the external

value of rupee, India shifted from

fixed par value of rupee to a basket

of currencies, comprising .................

in 1975.

(A) Pound Sterling, American
dollar, Yen and German mark

(B) Pound Sterling, Euro, American
dollar, Yen

(C) Euro, Pound Sterling, German

mark, Yen

(D) Euro, Yen, American dollar,

German mark

817.

88.

SEP -11221/I11—D
WA Il YRAd 999 Hifeeh

TEYAET G Al ?

o~

(A) IR T

SREECSRCE G

(B) MR e fooiel 7o S el

(C) <iferTT &TehSiet - ol =re dral

(D) W&HRT T Grasiiaeh ol

TYIT] ol fohHd SEUIATEEST A 99

1975 7= feer fafma fonudi=n ©mT sed
frifea e
(A) die wferm, smfte sfer, 39 anfur

STHA AR

(B) die wfer, 0, 310 Sler, 3

(C) T, Uie wfem, sHq Ak, 34

(D) FU, 3, THAREA SleR, STHF AR
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89.

90.

Which of the following is a major

contributor to India’s Foreign

Exchange Reserves ?

(A) Gold

(B) SDRs

(C) Foreign Currency Assets

(D) ADRs

(z) All state co-op banks in India

are scheduled banks.

(@) All scheduled banks are
nationalized banks.

What can you say about these

statements ?

(A) Both statement (i) and
statement (ii) are incorrect

(B) Statement (i) is incorrect and
statement (ii) is correct

(C) Statement (i) is correct and
statement (ii) is incorrect

(D) Both (i) and

statement

statement (i7) are correct

89.

90.

SEP - 11221/II—D
TRAT foael T SIS e Hial
e e ?
(A) &+
(B) SDRs
(C) foacefl <o #w

(D) ADRs

(G) YR Td T Hgh skl a1

STIgfea ST aTRa.

(i) §e STIHfad SehT AT USLATHA SiehT
|% E .

e faumeea g ®E "/ ?

(A) faum () 9 faam @) & = 9=
TR

B) faum () ® 9 o faum (i) 3 sk
R

(C) faum (i) ¥ seR 3 faum (i) ¥ 9=
R

(D) faem () 3 faem (i) & et aa
3R
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91.

92.

93.

Which of the following items is
excluded from the concept of money
supply in India ?

(A)
(B)
(C)

Coins of all denominations
One rupee coins and notes
Demand deposits in the
Commerical Banks
(D) Coins and currency notes held
by commercial banks
The government introduced Repo
rates and Reverse Repo rates in the
respectively.
(A) 1991, 1997
(B) 2000, 2001
(C) 1992, 1996
(D) 1992, 1999
RBI constituted a committee on
Euller Capital Account Convertibility
in 2006, namely .........ccccceeuneiriiirreenenne
(A) R. Gandhi Committee
(B) Second Tarapore Committee

(C) M. Narsinham Committee

(D) First Tarapore Committee

91.

92.

93.

SEP - 11221/I1—-D

@i TeUeh! ShIU] Sk TATdTel e

QeI FeheUdqd aiTaell 38 ?
(A) §d ot A

(B) W ®UATH! AOR AU A
(C) =Y Sepmedie ARTOR et

(D) TR SlehisTaesel A0 & Tt Al
&R W 9 Regd W T ogwd

(A) 1991, 1997
(B) 2000,

(C) 1992,

2001
1996

(D) 1992, 1999
2006 A& WA e s Wigdell

eIl CRi s W EC IR GER

B WAl TA9AT Dl
(A) 3TR. et |t
(B) gH IRAR Gt
(C) wH. Tfegd wftr

(D) wfged! aRMER |
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SEP - 11221/I1—-D

94. (i) NABARD was established in 94. () TS T 1982 TEY HITAT
1982 and it took over the
el o e getean It gAfem
functions of Former Agricultural
_ fahTd HeHSer™ W Bl Sdd.
Refinance Development
Corporation. @) ere a9 U fas™ o (NHB)
i1) NABARD and National - e . .
Housing Bank (NHB) are
id faumeEa TRl s B ?
refinance institutions.
What can you say of these (A) 1999 () 7 a8 (id) © <= ESS
statements ? 3TMed
(A) Both statement (i) and
(B) faum () 9 faem (i) & St shisr
statement (i) are incorrect
e
(B) Both statement (i) and
statement (ii) are correct (C) faum () SR 9 faum (o) S0
(C) Statement (i) is correct and aTRa
statement (i7) is incorrect
(D) faum () I 9 faum (@) s’k
(D) Statement (z) is incorrect and
e 3R
statement (i) is correct
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95.

96.

97.

Fiscal consolidation refers to

improving the quality and
effectiveness of .......ccccceevvneeennne.

(A) Public revenue

(B) Resource mobilization

(C) Public expenditure and

resource mobilization
(D) Direct taxes
Which one of the following is not an
example of transfer payment by the
government ?
(A) Salary of the President of India
(B) Pension
(C) Unemployment allowance
(D) Pension for

unorganized sector

workers in
The ‘twin deficit’ problem means a
country having :

(A) High fiscal deficit and high
revenue deficit

High fiscal deficit and high
governance deficit

High fiscal deficit and high
primary deficit

High fiscal deficit and high

current account deficit in the

(B)

()

(D)

balance of payments

95.

96.

97.

SEP - 11221/I1—-D

TS

foritel garehiul TS|
T[UTeR ST ke /el FEROT ol
B

(A) TSI Aegar

(B) ¥ Wit gHESS h{vArH]
(C) wrefSifer T for |iem |t

gHSS RO
(D) YI&l HI=
TTATATRT HITA IMHATR AT

gL JeM 3<el0 'l ?

(A) YRAr= TS aad

(B) fait

(C) SRR =Tl

(D) SToHfeq & SRS
o

ozl qerdl TR US| TETE I

I U .

(A) =9 foxig q onfor 3=u eyl

€<
(B) 3=a foxita qe onf S=a sk

€
(C) 3=a foxita q@ snfor 3=a wrafae

€
(D) =4 foxita e 71 SHerRdarden

=] TeAeie = 2

o o

EE
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98.

99.

100.

The increase in civilian expenditure

share has been fueled largely

(A) Defence expenditure needs
(B) Rate of interest

(C) Primary deficit

(D) Social security and welfare

program

The Law of Rising Public

Expenditure was advanced by :
(A) Adam Smith

(B) Paul Samuelson

(C) Adolph Wagner

(D) Wiesman and Peacock

Government expenditure on
education and health is considered
as expenditure on .....................
(A) Non-merit goods

(B) Merit goods

(C) Club goods

(D) Rival goods

98.

99.

100.

SEP - 11221/I1—-D

IR TEi= JREA d9e e

(D) ISR GRET ST el HhiHshd

e HeSieh T am
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ROUGH WORK
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